SHM7EE SLBIEL/\VE—H 4T —FEHE

ek |oREE TEL|469-4944
No. |H|HEH FlRmEZ | & 1&gl EE T3 RS N EF e L MES 3T HEE
N ARIELTEIFSF  |HEGHMHETELb HTUOXER K|FERARE
[ I R R R L R R L Rl P DIEYFEESR 0= v EmT | 10.000
N A|FEHTDEIRZ |FIDERRD BB KTHEREEkY — | A RE
6] 7| L [10(BF| 00|53 12|B¥| 00 |5z 1 /5y = 20 L0 mEmLT o 7,500
2
N AJIFLOTHOEIRE |#IDERRD EBREK KTHEREkR Y — |FeiR A RE
6f 21| &=/[[10] %[00 53} 12| =400 3 =(2/2) = 20 I FEEALF EE 7,500
VAN VAN J— — == %ﬁ%*EIJabi
3 7| 30[ 7k | 14|8%| 00 [5>| 15 |e¥| 00 | 53]/ \—7F () RE RE R A B = 10,000
N A|FEHTO—HWHE |FDEFRO—EHE = FeRRE
4
N AJIFEHTO—WHE |FILERFRO—HE = FeiRRE
8| 24| B | 10|B¥| 00|45] 11 |85 50|45 (2/2) b 15 |SEHZE R Lk = 5,000
ELCRFD ' BRI |mys e wnrpn )= —2RHa—tr =
5 | 9f 27| & | 13|e¥| 00|45 14|8s| 30| o |EEEE AR Y —5— ;*iﬁgggj 7 20 ZL:LXW@ i fgﬁ*ﬂl‘*\&ﬁﬁ 5,000
H—3<YREE) B
N ANBRFCTFrLUODEBFTEEFHEYIC S TERARE
6 | 10| 18| | 10|BF| 00|45 12 [E5| 00|45 & 7 (5 L ({5 8) FoloSLEd 24 |%ithkE i 15,000
VAN VAN L~ — [—] %ﬁ%*EIJELE
. s BT AR —Y & |or =
s | [l x| (s [8] |8 |p|mmr—smm [ELVVERVTYER| 5 |mrgevrc = [TORARE 10,000
L 2 Eﬁi
H ZE&B
FERAREE
9 1 + | 138 00| 5] 14 |85 30 (SR TE RE RIE BE FeiR 10,000
REFR—L
10 | 3| 8/ 8 B |2 (B |#|cELEDY RE RIE jf__'%f"%ﬁ 10,000
N PN RUDIWNIL—r% = yEREE
11 3 8| B B [% Bl |aSELEDY oL 100 |R7E R s 10,000
Bl |2 (8] %
BFEOHANLTEEN (A BEANBNTEELY)
THEER 9 —Shoi| BRRRE F|—shoi
HEEZR 3 —shol| BEEH |—Shokn
U
*FH 0 bl (ATRIEF |—Sbhdi
[ - 5t 28
kA (ER) 0 —shoil| RiFBRRE |—Shoin




